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likona |Crapokasapikckan COLL ]OT,q./Kopni—_-—___] 2l
c7pollner
puvem nuw| Paspen | Ne peu. bnwoao Boixog, r| LeHa Yrnesoapl
BaTpyiuka 13 TBOpOra
3asTpak |rop.6riopo €O CryuieHbIM MONIOKOM 220 51,95 44
rop.HanuToK |Haii suTammuuHbI 200 5,43 20]
xneb Bytepbpog c Maciom 40 8,40 15
3aBTpaK 2 |bpyKTbl DpyKT ABNOKO 461 43,82 59 0 14 59
109,60
Obep, 3aKycKa Canat U3 MOPKOBH 100 6,51 86 1 5 9
CBEKONbHUK CO
1 6no0 CMETaHOM 250 10,15 119 3 5 16
2 6nopo MeyeHsb TyweHan B coce 100 44,46 210 4 3 41
MaKapoHHbIe U3aenua
rapHup OTBapHbLIE C Mac/iom 180 5,87 210 4 3 41
KOMNOT M3 CBEXMUX
cnapkoe ‘\nnopos 200 5,15 83 0 0 21
xneb 6en. BaToOH NWeHUYHbIH 54 5,31 117 3 1 24
xne6 yepH. Xneb pxaHoi 43 2,55 81 2 0 18
80,00
WWkona  |Crapokasgbikckas COLU |0Tp,./Kopn[:| \
cl2net u crapwe
puem nuwy Pasaen | Ne peu. bBawoao Beixoa, r LieHa YrnesoApl
Batpywka 13 TBOpOra
3aBTpak |rop.6nopo CO CryLieHbIM MOMIOKOM 220 51,95 380 19 14 44
rop.HanuToK Yaid BUTaMWHHbIN 200 5,43 83 1 0 20
xneb ByrepGpopa c Maciom 40 8,40 134 2 7 15
3aBTpak 2 |{$pyKTbI $pyKT Abnoko 461 43,82 59 0 14 591
109,60
O6eg, 3aKyCKa Canat U3 MOPKOBM 100 6,51 86 1 5 9
CBeKo/IbHWK CO
16080 cMeTaHoW 250 10,15 119 3 5 16
2 6nogo MeveHb TyweHan 8 coce 120 43,32 210 4 3 41
VIGRapOHHBIE M3AENNA
rapHup 0OTBapHbIE C MAc/IOM 180 5,84 210 4 3 41
KoMnoT U3 CBeXUX
cnagkoe nnoAos 200 5,15 83 0 0 21
xneb Gen. BaTOH MeHWYHbINA 60 5,84 117 3 1 24
xneb yepH. Xneb paHoit 46 3,19 81 2 0 18
80,00




